Counling Batvands Thoough O Using Megative Mumbers Worlshest
&im = 1 com cownt backwards through O including negative numbsers.
Counting bockwords con be wseful = epecially iff wou wont to make o rodket take off!

o9, 8, &6 5 & 3,3, 1 BLAST OFF!

BUT whaat happens when we are counting bockwards and we get to'0°7

W keap going using negative numbers.
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A Use the number lines to halp wou cownt backwards through @. 5tort on the number given and drow the right
number of jumps backwards until you hawe your arswer.

1. From 5, cownt back 7.
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2. From 8, cownt back 12,
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3. From T, cownt back 15,

4, From 2, cownt back 9.
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5. From 12, count back 22
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B. Thase counting back tasks con be written as sums eg. 7 = 8. 7 is tha number you stort om and 8 s the
number of jumps wou cownt bockwords, T8 = -1

Use the number Line below to jump with your finger to count backwards and work out the answers
to the sums.
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C. Bsing able to count back through O con help gow undersinnd temperohene changes. [mogine a themomster
is o number line on its side Lise thase thermometers for drowing jumps on to help you anseer the questions
on the next poge.
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When the temperature drops, you can count backwards on your number lingthermometer and calculate the raw
temperatung.

1. Tha temnpemohare is TC then it folls by %°C. What is the new temperoture?
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2. At sbe o'clock in the evening the temperatere is 11°C. 1t folls by 14°C ot night. What is the new temperathare?
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3. During the doy the temperahene is 1*C, by the evening it has follen by 5°C. What is the new temperature?
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4, The temperohere is 3°C them it folls by 1:2°C the ned doy. What is the rew temperotue?

)

5. At nine o'clock in the moming the temperature is 53¢ 1t folls by 5*C at night What is the new temperature?

)



